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Which of the fllowing routing algonthms can be
usnd for metwork laver design?

(@)  Shortest path algorithm

@) Distsnoe woterronung

&) Link state rounhing

(& All of the menponsd

Whish of the Sllowing ame tmanspert layer
rrotoocls used in nerworking”

&' TCPandFIY " UDPand HTTP

& TCPandTUDP (& RBTIPsnd FTF
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message is rearranged by
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hieh is not 2 spplicatnon laver protoesl?
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transposigons] ciphers
substun

cphers

hoth mnspcsx:ionsi ciphers and substitution
capkers

quadratic cphers
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IR0 OS] reference model

The number of lyyers in
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a8 @ w
The phasreal lgyer 18 ConOeTmN od with
@ bitbv-u delivery
B provess r prnaess dehiven
) apy Loation o ;\;‘ph\‘.ﬂh‘ﬂ dalivery
(@ port o port delivery
Trarsmusson Media s classefiedas
@) Un-Guided ) Guaded
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bit frames

gre ALOHA nerwerk transmits 200-bit

What 13 the

s"*.*.:v-:. channel of 200 Kbps
irement to make this frame collision-free?

&\ msee (M 4 msec

©) Ysx (@ dsec

Ethernet frame consasts of

(2 AMAC address B IP address

(@ Default mask (@ Netwerk address
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Answer ALL the questions, choosing either (a) or (B
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¢t exceed 230 words.

e features of LAN, MAN, WAN.
Or

Compare TCE/IP and OS] reference model.

Express about electromagnetic spectrum.
Or

1ssion.

Write about light transm
Describe sliding window protocol using Ge
back n.

Qr
architecture  and

Depict the Bluetooth

protocol stack.

What is routing algorithm? Explain,
Or

Brief note on Traffic-aware Routing.
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(a)

‘]\)

Describe transcrijition cipher moedel
i

Write about RSA algurithm

PART C — (3 » = 10 marks)

\nswer ALL the questions, by chioosing either (w) or (1)

16

Fach answer should n

(a)

(hy

(n)

(hy

ot exeeed GO0 worils

Elucidate the protocol hierarchics in petwork

woftw are
Or
Ilustrate TCPAT reference model with nent
diagram.
Explain
(1) co-axial eable
{1)  fiber-optic calle
Or
Elaborate Geostationary satellites
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